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1. Please describe the four steps of health risk assessment of toxic chemicals (16%).

2. What are Greenhouse gases? (7%) ; What is the major problem of the climate change for environment, for
human adverse health? (8%) : What can we do for improving the climate change? (5%)

3. Please define the (1) persistent organic pollutants (POPs) (4%), (2) endocrine disrupting chemicals (4%),
and (3) endocrine disruptor hypothesis by Theo colborn (6%).

4. Why is the environmental burden of disease as % of total disease burden not the same throughout the
world? (10%) List three methods that we can do to help reduce the environmental burden of disease?

(6%)

Environmental burden of disease globally

LY

Environmental burden of disease
as % of total disease burden
M 10-125%
T ]125-15%
15-20%
B 20-25%
Il 25-30%

Pl 30-35%
7 No d Based upon data in Smith. KR, Carvalan, C, Kjelistrom, T (Epidemialogy, 1998)
H o data @ World Health Organization 2005, All rights reserved.
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6. What is eutrophication? (4%) According to the figure below, please describe the process of
eutrophication? (8%)
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(Pidwirny, 2006)

7. John inhaled 6 L of air in a minute, assume the particle concentration is constant at 5000 #/cm>, what is
the total amount of particles John inhaled in one day? (6%) Name three sources and three sinks of
particles? (6 %)




